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1.
Evaluate
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2.  Simplify the expression 
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3.
Simplify 
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4.  Solve the equation 
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5.
Solve  
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6.  Write in logarithmic form 
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7.
Evaluate 
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8.  Write exponential form 
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9.
Find: log 0.00039

10.
antilog 2.3324

11.
ln 41,479
Solve the equation or inequality.
12.
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13.
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14.
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15.
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17.
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18.
Find 
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19.

[image: image16.wmf](

)

2

log

9

log

3

3

=

-

+

x

x

.

20.
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21.
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22.
Evaluate:  
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23.
Evaluate 
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Solve
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25.
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26.
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27.
The Parker family plan to save amount P each year for each of their children’s college funds.  They used the formula 
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, where A is the amount college tuition will cost in n years, and i is the yearly interest, to find the amount they must save for each child.  In 18 years, the Parkers expect college tuition to cost $48,000.

a.
How much must they save each year, per child, at an interest rate of 7.5%?
b.
How much must they save per child if the interest rate is 8.25%?
28.
Uranium-234 decays according to the equation 
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, where t is in years.  Find the approximate half-life of this substance.
29.
The future value 
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 of an annuity type of investment is given by the expression 
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 , where P is the periodic payment, r is the rate, t is time, n is the number of times compounded.  Samantha plans to save $2200 each year for 45 years, at an annual interest rate of 6.25%.
a.
How much will she have in her account at the end of that time?
b.
How much will she have if she saves for 40 years at an interest rate of 8.25%?
30.
If Ramirez family deposits $5000 in an saving account at 7.5% interest compounded continuously, how much will be in the account after 15 years?
31.
Mexico City, Mexico, is the world’s second largest metropolis and is also one of its fastest-growing cities with a projected growth rate of 3.2% per year.  Its population in 1991 was 20,899,000 people.  Use the formula P = 20.899e0.032t to predict its population P in millions with t equal to the number of years after 1991.  What is the predicted population to the nearest thousand of Mexico City for the year 2010?
32.
Find the amount of time required to double an amount at 6.63% if the interest is compounded continuously.  
_1290232744.unknown

_1290232995.unknown

_1290408323.unknown

_1493541841.unknown

_1493541929.unknown

_1493541928.unknown

_1493541827.unknown

_1290233202.unknown

_1290233571.unknown

_1290233847.unknown

_1290233922.unknown

_1290233302.unknown

_1290233055.unknown

_1290233169.unknown

_1290233017.unknown

_1290232807.unknown

_1290232829.unknown

_1290232762.unknown

_1290232629.unknown

_1290232687.unknown

_1290232727.unknown

_1290232667.unknown

_1290232496.unknown

_1290232534.unknown

_1290232462.unknown

_1288364725.unknown

